See ANSWERS below on page 2.

For each quadratic equation, identify the x-intercept, y-intercept, axis of symmetry, vertex, and sketch a
graph of the parabola.

1. f(x) = X2 + 4x + 8 &Q_SMM
W\ N A
2. f(x) =3x*—18x + 15 %%ﬁ \t 0\4 O\Vl
3.f(x) =2x2 + 10x + 12 \ MS
4.f(x)=x*+2x—8 M OLW
5.f(x) =-3x>+3
Write the equation of the parabola in standard form given the following conditions.
6. Passes through the points (1, 0) (5, 0) and (3, -4)
7. Passes through the points (-10, 0) (-8, 0) and (-9, -1)

8. Passes through the points (1, 0) (-3, 0) and (2, 10)



Answers:

1.

x-intercept: none

y-intercept: (0, 8)

Axis of symmetry: x = -2

Vertex: (-2, 4)
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2.

x-intercept: (5, 0) (1, 0)

y-intercept: (0, 15)

Axis of symmetry: x =3

Vertex: (3, -12)
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3.

x-intercept: (-2, 0) (-3, 0)

y-intercept: (0, 12)

Axis of symmetry: x = -5/2

Vertex: (-5/2, -1/2)




4.

x-intercept: (2, 0) (-4, 0)

y-intercept: (0, -8)

Axis of symmetry: x =-1

Vertex: (-1, -9)
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5.

x-intercept: (-1, 0) (1, 0)
y-intercept: (0, 3)

Axis of symmetry: x=0
Vertex: (0, 3)
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